B.A/ B.Sc. Semester- VI (Honours) Examination, 2020 (CBCS)
Subject: Economics
Paper: DSE - III

Time: 3 Hours Full Marks: 60

The figures in the right hand margin indicate full marks. Candidates are required to
give their answers in their own words as far as practicable.
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Candidates are to answer either Social Economics or Political Economy
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Social Economics

. Attempt any Six (6) questions from the following : 5x 6 =30
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How can you measure Human Development Index (HDI)?
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. Justify your arguments for public intervention in case of market failure in the
market of health economics?
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There exists a gender gap in health related issues in developing economics.

Establish your argument.
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. Examine the role of investment in human capital in the context of Indian economy.
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Give a brief outline on gender discrimination in the context of a developing

economy.
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Critically explain Gender Empowerment measure (GEM) as a measure of Women
Development.
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Explain the incidence of gender differential in case of intra- household resource

allocation in an economy.
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. What are your arguments behind women not actively participating in the decision
making process like men counterpart in the family and society?
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Attempt any three (3) questions from the following : 10x3 = 30
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Examine the role of health and education in human development and overall

development of a country. 10
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Examine the relevance of health insurance market in a developing economy. 10
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Make a critical evaluation of cost benefit analysis of health programmes of an

economy. 10
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. Explain the implication of Gender Discrimination with respect to education. 10
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Critically explain Gender Development Index (GDI) as a measure of Women

Development. 10
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Political Economy

2. Attempt any Six (6) questions from the following : 5x 6 =30
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a) Explain the differences between use value and exchange value.
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b) Point out the limitations of Ricardian theory of rent.
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c) Explain the basic features of mercantilism.
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d) Write a short note on commodity fetishism.
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e) Explain the concept of ‘Reserve Army of Labour’ in Marxian economics.
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f) Distinguish between simple commodity production with capitalist
commodity production.
A A BLAWCTR A0 GTOIES 21 BLAMCT AL F4 |

g) Discuss how the surplus value can be increased in Marxian analysis.
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h) Give difference between qualitative value and quantitative value in
Marxian theory.
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1. Answer any three questions. 10X3=30
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a) Explain Ricardian one sector model with its underlying assumptions.
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b) Discuss the importance of ‘division of labour’ and ‘specialization’ in
Adam Smith’s Labour Theory of Value.
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c) Briefly compare stage theories of Rostow and Marx.
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d) Explain the importance of ‘circuit of capital’ in Marxian analysis of

capitalist reproduction.



gTolfE [P efea IR fRese eTge AL 9q @y Ao

<*d
e) Discuss briefly Marxian theory of under-consumption crisis.
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